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SECTION - |
MATHEMATICS & SCIENCE

1 The length of a cold storage is double its !

breadth. Its height is 3 metres. The area of
its four walls (including doors) is 108 nﬁI
Its volume will be |
(A) 206 m? ® 416m? '
@ 216m° ®) 316 m? :
2 f y=3—2y2 then x4 ~ will be
X
(A) 24 (8) 30
(C) 36 (D) 34

s A bomb of mass 9 kg explodes into 2 pieces
of mass 3 kg and 6 kg. The velocity of mass 3
kg is 1.6 m/sec. The kinetic energy of mass 6

kg is
(A) 1.92 Joule (8) 3.84 Joule
{c) 9.6 Joule (D) 2.92 Joule

<  Which of the following behaves both as|4

nucleophile as well as an electrophile ?
(&) CH;CHO (8) CH,;CN

(© CH,OH () CH,Cl

5 Percentage errors in the measurements of | 5.

mass and speed are 2% and 3% respectively.
The error in the estimate of kinetic energy

A9 8N -
(A) 24
© 36

(8) 30
(D) 34

9 kg T B UF a9 favpE & a<
3 kg IR 6 kg & A gHS A deal € |
3 kg @M B 47 1.6 AR T 1 6 kg
FeqwE @Y TS ol B -

(A) 1.92 eI (B) 3.84 el

© 9.6 el (0) 2.92 S

frer @ PR TSR d
IR TEE SFl B e BN PR € ?
(A CH,CHO (8  CH,CN

(© CH,0H (0)  CH,Cl

TTAE 3R Al P AT H AT 2%
AR 3% @i ufeE Ffe Ad TS | gEHH
AR 9 & WY A g RS ol &

obtained by measuring mass and speed will AdAT | Ffe BN -
be (A) 29 (8) 12%
(A) 2% (8) 12%
€ 8% ®) 10%
() 8% (D) 10%
o _Pdgtz N f‘:-“
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10.

[TITTHED

A 25 watt -220 volt bulb and a 100 watt
-220 volt bulb are joined in series and
connected to the mains. Which bulb will
glow brighter ?

(A) 100 watt bulb

(8) Both will glow with same brightness

(C) First 25 watt bulb and then 100 watt
bulb

(D) 25 watt bulb

Real value of x and y, if x—-1 y-1 =i
3+i 3—-i

(A) -10, 12 (8) 7,-7

() -2,5 (D) -4,6

At the magnetic poles of the earth, a
compass needle will be
(A) Vertical (8) Bent slightly

(C) Horizontal

(D) Inclined at 45° to the horizontal

The molarity of pure water is (density of
water=1gm[™%)

(A) 444 M
() 5555M

(B) 45.55 M
(D) 66.66 M

The perimeter of a triangular field is 450 m
and its sides are in the ratio 13 : 12 : 5. The
area of the triangle

(A) 6570 m? (8) 6750 m?

(© 7560 m? (@) 5670 m?

10.

25 9I¢ -220 dlec B TH ded B 100
qie 220 diec & TR 9@ I AOMHH H

e g R (9 TEw) § e
WAl & | S O dod ARD THBT ?
(A) 100 dTC &1 dcd

(8) IFF god THIE FHS |

(©) g8t 25 9T &1 god B 100 41 &I
ded

(D) 25 dIC &1 deq

ae *-1 vl @y dry @

3+i 3-—i
qr<ad A 8N -
(A) -10, 12 (8) 7, -7
€ -2, 5 (D) -4, 6

Rft & gEIY A | & U B
g% et -

() SeqfeR

® T h A

© Afr
©) & W 450 R g &

Y€ A B AR 8 (Fd T I = 1
gm L1

(A) 444 M
(@ 5555 M

TF PEIeR @d &1 9RA™ 450 A1 @

qAT THS! YoTAT BT AU 13 : 12 : 5
2 | PyoTeR W &1 &% B -

(A 6570 &2 (B 675047

(B) 4555 M
(D) 66.66 M

© 7560 = (D) 5670 #°
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1. A body cools from80°C to64 °C in 5| T& @@ 80 °C ¥ 64°C T 8

minutes and same body cools from 80 °C to

52°C in 10 minutes. What is the
temperature of surroundings ?

(A) 25°C B8) 22°C

(€© 24°C (0) 28°C

If a body loses half of its velocity on
penetrating 3 ¢m in a wooden block, then
how much will it penetrate more before
coming to rest ?
(A) 1cm

(€ 2cm

(B) 4 cm

(D) 3cm

The number of moles of KMnO, that will

be needed to react completely with one
mole of ferrous oxalate in acidic solution is

a) 3 (8) 4
5 5

@ 2 (D) 1
5

Three masses are placed on the x-axis : 300
gm at origin, 500 gm at x = 40 cm and 400
gm at x = 70 cm. The distance of the centre

of mass from the origin is
(A) 30 cm (8) 45 cm

(C) 40 cm (D) 50 cm

12.

13.

14.

frre & @ & dur 9@ FET 8o °C
A £20c aF ovel 10 fiFe # g g |

ARGRT & gIarEaxol &1 ard & -
(A) 25°C (B) 22 °C
© 24°C ) 28°C

afd e avg dFS & T THS W 3
IR quE F IJmEm M @ oTH B, A IgE

ffam R qu9 wN R &
fa—maTgRer § oM Q2

(A) 1 cm (B) 4 cm
© 2 cm (®) 3 cm
KMnO, b Hdl B [T S BT

Jdfeicle & 1 Hiad A g RQaga #
i firar & forg emawas & -

(A)3 (8)4
5 5

()2 (D) 4
5

T GEHM -3 W, 300 gm BT T
fdg W, 500 gm & , = 40 I W
AT 400 gm BT x = 70 IN W W T

g | ST TEENE P OHe A
R o g 9 @

(A) 30 . (8) 45 Y
(© 40 ¥+, (D) 50 ¥,
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15 Cf“1
IUPAC name of ) |

OH
is
(A) 1-Ethoxy propan-2-ol
(8) 3-Ethoxy propan-1-ol
(©) Ethoxy pentanol
(D) 2-hydroxy-3-pentanone

% Ina AABC,AB= 63 cm, AC=12cmand

BC =6 cm, then the angle B is
(A) 45¢ (B) 60°

@ 120° (d) 90°

7 If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob as it is
passes through the lowest point in its path ?

(A) 4.43 m/sec ® V2 x98m/sec

@ 1 ®) V2 m/sec

— my/sec
\2,(

12 The rate constant for the first order reaction
is 60 s~ 1. The time in which it reduce the

. 1 th
concentration of the reactant to _—

16
value is
(A) 46 seconds

(8) 46 x 1072 seconds

© 46 %107 seconds

(D) 2 seconds

- B

CH-CH, ~OC,H |* CH; - CH—-CH, - OC,Hs

, @1 [UPAC H
OH

-

(A) +-TATRT grO-2-3ifet

(8) 3-TAfRR W-1-3ffet

(© gfef Fer

(0) 2-grEglaft-3-TeTT

AABC &, AB = ¢y3 o,

AC = 12 ¥ @ BC = 6 ¥4 & «
PIT B BT 719 8NN
(A)  45° (B) 60°

© 120° ()  9Q°
e U Urger dfd St 2 W @B SR A
dOT ¥, B FEAER W gp° W o R

BIs far <mar € | 99 &1 AW Uy W)
e fig & RT W 97 | ' 2

(A) 4.43 HRY, 8 2x98 .
© 1 A R O 5 AR
V2

W-m’r%ﬁwaaﬁrﬁm:ﬂa?

ReRid g5t & | a8 W form

afveRE w1 wew L ae v o
16

£ -

(A) 46 THUvSH

(B)4.6 x 1073 Fwuzw
(€© 4.6 x 1072 o

(0) 2 IHUS

T
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.

An artificial satellite moving in a circular

orbit around the earth has total energy [PE +

KE] E,. Its potential energy is
A 2 E, ® E,
(9]

15E, (©) —E,

The half-life period for a zero order reaction

is equal to

(a) 0.693 (8) 2K
K (Al

© [A], (o 0.693
2K K[A],

' Which of the following is not a good

conductor ?

(&) NaCi(aq) (8 NaCl(s)

(© Cumetal () NaC! (molten)

In Friedel Crafts alkylation, besides AICL,,
the other reactants are

(A) CcHe + NH; (8) C.H, + CH5Cl
© C.H, + CH,COCl

() C.H, + CH,

if tanx + secx = /3, such that

0 < x < m, then xisequalto

(A) 27 (8 T
3 6
€ T (0) 5m
3 6

19,

1;

23.

TF FOM SUTE W RA F AN 3R
JaPR W W A FW IE E, B Pl
out Rafr ©d o &) g, & |
! Rufae Hat 8rft -
W 2E, (8)

15 E,

E,

(€) (D)

-E,

T P # affem & fag o Iy
Pl ¥T&R ® -

a) 0.693 (8) 2K
K [al,

© [Al, () 0693
2K KlAlo

Frafofeaa # 9 o9 @1 garae T8 § 2
(&) NaCl(aq) (8) NaCi(s)

(@ Cu grg (0) NaCl (femga)

WS PIFC & TedlellaRol § Alc), &
ferrar IfeRs § -

(A)  CoHg + NH,
®)  C.H, + CH,Cl
(©  C¢Hg + CH;COCI
@)  CgHg + CH,
RIS tanx + secx = /3. VP
0O<x<m @ x & A9 BRI -
(A) 2_Tt ® T
3 6
@ T (0  5m
3 6




24

25

27

A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2
focal lengths is = Their equivalent focal
length is 30 cm. What are their individual

focal lengths incm ?
(A) -75, 50

(9 -10, 15

(8) -15, 10
(p) 75, 50

In a single throw of three dice, the
probability of getting a total of 5

(A) 5 8 1
108 36
© 5 (D)
216 216

. Which of the following is not a colligative

property ?
(A) Relative lowering in vapour pressure

(B) Optical activity
(€) Depression in freezing point

(D) Elevation in boiling point

In what ratio does the point (-4, 6) divide
the line segment joining the points A(-6, 10)
and B(3,-8)?
(A)4:9

(c)4:5

(B) 3:7
D)2:7

n _n n _n
| f Pr_ r_:Land Cr_ Cr+1.

then the valuesof nand r

25.

26.

27.

28.

2 3| 9 TGN BHE g4 30 T
3

3 | TR FT-orET BHE ga . H
grft -

(A) -75, 50
(© -10, 15

&9 T & P 9B H P AN 5
IF P wifear Brf -

(8) -15, 10
(D) 75, 50

(A) 5 (8)

108 36
(© 5 (D)

216 216

fr=fafeq ¥ I RS 07 TE E -
(A) qreErg H1 ANf&D JaTHT

®) yerea frardicran

(© f@Hi®d &1 A9

(D) FIHAIS B I

& faslt A6, 10) = B(3, -8) W
e aTd YEEe B fawg (-4, 6) fd4

FaTa # §fem -
(A) 4 : 9 (8) 3 :7
€ 4:5 D 2 :7

3 nI:)r __‘nPr—'-la'ezT ncr :ncr+1
A n &R r B AHE BT -

(AAn=3,r=2 B)n=4,r=5 A nh=3r=2 B n=4r=5
(©n=5,r=4 Pn=2,r=3 © n=5r=4 ®@®p=27r=3
""""""" o Page: 7



2. A small metal ball is suspended in an
uniform electric field with the help of an
insulated thread. If a high energy X-ray

beam falls on it

(A) The ball will be deflected opposite to the

direction of field.
(8) The ball will not deflected at all.

(©) The ball will move to infinity.

(D) The ball will be deflected in the direction

of field.
30. The water droplets in free fall are spherical
due to
(A) Gravity (B) Viscosity

{€) Surface tension

(D) Intermolecular attraction

31 Root of the equation 3x2 + 7ix + 6 = 0

(A) 2 B) 3i 2i
3% (8) 3i, 2i
3
@© 3 (D) 2
31, =i 2i,—i
2 3

A particle is projected at

kinetic energy at the highest point is
(a) K 8 K

2

(¢ (D) zera

- | R

33

60° to the
horizontal with a kinetic energy K. The

Nessler’s reagent is used for the detection of

31.

32.

33.

el @ UEEHE fAEE &9 6 dcarg
wﬁ%luﬁ@qﬁwfaﬁx-ray

®) g faafa T& e |
(© g I TR Fell T |
o) de@ & @t fewm § & e nfl

wWaadgds R @ gt B & @
AFR MATPR fHad HRUT BT § 2
(A) o (B) wgqr=ar

(€ g T
(0) FRRTAUS HHYT

TRE 352 4 Tix+ 6=0 B JoA BN

(A) 2 (8) 3j 2i
_3i54 3, 2|

3
() 3 (D) 2
3= ji
5 21,31

Td U K o Saf o &8s 4 goe

BT W) yala fhar Sar &, a1 Swaaw
fig = 7k St 8rft -

(A) K (8) K
2
@ K (0) 3=
4

TqeRE AP ds T ST GG ST B

@ K* (8 Na* forg grar &
© NH} © cu* (A) K™ (B) Na*
(©  NH; (0  Cyu2t
- Page: 8 ===
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The work done in placing a charge of
8 x 107'¥ Coulomb on a capacitor of

capacity 100 microfarad is
(A) 16 x 10737 Joule
B 31 x 107°° Joule
© 4 x 107%° joule

© 32 x 10737 Joule

. 238
The nucleus resulting from “~ | after
?

Q
successive emission of two q-particles and

four B-particles is

) 230, B 330
ggPU 2lh
@ 230 © 23
88"\ 2!
The value of x in the following series :
1+6+11+16+......+x =148
&) 36 (8) 39
0 37 (D) 38

The length of the minute hand of a clock is
14 cm. The area swept by the minute hand
in 5 minutes.

(A 154 (8) 154
—— am” — M-
6 9

© 154 (o) 154
— cm? — cm?
12 3

lmnne

¥ o100 ATgHhNS gRdr & UHIiRE

8 x 10 1'% P BT NI @A
ST A -

W 16 x 10772 A

i
¥ P

‘ ® 31 x 10°2¢ Y

BECEEPISETRUR

® 32 x 1032 9o

Py XA oI W A g b

FHHIE IO & GRUTHESY g9 arell
NS -

(A 230 (B) 230
g4PU so1h

() 23 (D) 23
siR2 2V

w fyefaied a0t & , &1 A9 8 -

1+6+M1+16 + ... + y = 148
(A) 36 (B) 39
© 37 (D) 38

7. U%h g$l ol e arelt g8 I a=rE 4
i 2 | fire a1l @ & g1 5 fime
PR BT T &F FT STB BAT -

A 154 B 154
(A) a2 (B) 154
9
() 154 (D) 154
12 3
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39

a0

Which of the following does not have a
metal carbon bond ?
A K[Pt(C,H,)CI5] ® Ni(CO),

(© AI(OC,H;). (®) C,H.Mg Br
Which ore contains both iron and copper ?
(A) Chalcocite (8) Chalcopyrite

(©) Malachite (D) Cuprite

If the arcs of same length in two circles | 40

subtend angles of 60° and 75° at their

centres, then the ratio of their radii

w Prefafed ¥ W foen argedT da wE

39

g2

(WK[Pt(C,H,)Cl;] (BINiI(CO),
(©AI(OC,Hs); (0)C,HsMg Br

f6r U s d oATET 91 drqr S 82
(A) dTehRIZE (8) ATehITARTSE

(© Holarge (D) FgATEE

UHH o1 & A9 a1 4] $ bw W)
60° R 75° & PV q417 & AT ST g

&l Broarsit &1 ergura Bem -

(A) 7 : 8 {B) 4 . 7 {A] 7 8 {B} 4 - 7
Q6:7 (D)S:4 © ¢ :7 (D) 5 : 4
o Page: 10
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41

42.

43

44

45

47.

T

SECTION - i
TEXTILE TECHNOLOGY

Which one of the following is a natural
fibre?

(A) Polyester (8) Cotton

(€) Viscose Rayon (D) Nylon

Beesley's yarn balance is used for
determining ?

(A) Elongation (8) Count

(C) Strength (D) Twist

Highest elastic yarn is
(A) Polyester

(©) Cotton

(B) Lycra
(D) Silk

In spinning process, combing machine is
used

(A) To remove short fibres
(B) To remove long fibres
(C) To remove impurities

(D) None of these

In which country, Marino wool found ?
(A) Australia (8) U.S.A.

(@ India (D) Sri Lanka
One cycle of loom completes in
(A) 90° (8) 180°
© 360° (b) 270°

Density of silk fibre is

(A) 1.33 gms/cm® (8 233 gms/cm’

© 333 gms/cm® (P 433 gms/cm’

41,

42.

43

44,

45.

47

R IR § |
SHICISA SHarsl
fr=fofead & o W Y0 wele & 2
(A) gifergeer (8) wHYRY
O frep Wi (D) AgdE

it I+ 4 &1 I fEaer FAuilRa
P & g axa € 2

(A gfeg () Hrdhe
(©) worgdt (D) Hrs
G AdAT TH B

(A) ifergeex (B) cATgehT
©) HURT (o) Ryew

Faré @ b ¥, Sfdn e s
e

W B W free &g

B a3 ¥ P 29

© srgfai B Prote ¥

(O) T W HIE T8

fr <u % ARA F9 urw gar ® 2

(A regferar (8) Ju¥.q.
© HRd (0) sfieien
o & P 9% QU Bl @

(A 90° (8  180°
@  360° @) 270"

Riewd I &1 ¥9d &

A 133m/a8° (B 233 ogm/ad’

@  333mm/a O 433w/’

Page: 11
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48.

49

52

i

The desizing process mainly removes
(A) Wax (8) Yellowness

(€) Natural impurities (D) Starch

Which one of the following is cellulosic
fibre?

(A) Cotton (8) Nylon
() Silk (D) Polyester
- Number of Hanks of 840 yards in one pound
IS
(A) Tex () Nm
©D (D) Ne

EPI stands for
(A) Ends Per Inch {B) Ends Per two Inch

(€) Ends Per half Inch (D) None of these

Weight in grams of 9000 metres of yarn is

denoted by
(A) Tex (8) D
(© Nm (D) Ne

Which one among the following weaves has
the highest tensile strength, all other factors
remaining constant ?

() Plain (8) Twill
() Matt (D) Satin
pH value of pure water is

(A) 7 (8) 6
©5 (D) 8

48

49.

52.

- gega: [T S

—

mgﬁm;ﬁmﬁ

ilm (8) dierras

© wrpfie gfEd

(D) wrd

Prefafad F B W AGARD WM E 2
(A) HURT (8) HTTA

© Riep (D) gifeTgeex

840 WS & TS TUidhsS H &d & A&
Bt 2

(A) Tex (8) Nm

© D () Ne

. EPI &1 3 @

(A TH 39 H Grl bl A
(8) I 9 H gril B JE&AT
© & g9 § g & G
0) FTH 7 BIg AL

9000 WleX UM BT AR W H Sufr
e ®

(&) Tex 8 D
© Nm (®) Ne

fFrefofea & & o9 @ fla & =g

X W R ¥ W64fh @R AE
Rer § 2

(A) wq B) Tdte

© ¥ o) Jfe

Y€ 9 & pH P W BNT R

A) 7 () g

€ s (D) g

Page: 12 e



a

61

B2.

G

- Which one of the following fibres is highly
lustrous ?
(a) Silk (B) Nylon
() Cotton (D) Jute
. English count is represented by
() D (8) Tex
(€) Nm (D) Ne

- Which one of the following machine is

known as ‘Heart of Spinning’ ?
(B) Carding

(D) Blow room

(A) Ringframe

(€) Drawframe

Density of polyester fibres is
(A) 1.15 gm/cc (8) 145 gm/cc

(© 0.85gm/cc (®) 1.54 gm/cc

Muga Silk is found in
(A) Uttar Pradesh

(C) Tamil Nadu

(8) Madhya Pradesh

(D) Assam

Density of cotton fibre is
(A) 154 gms/cm® (B 254 gms/cm?

© 354 gms/cm® (@ 454 gms/cm?

The process of removing loose hairy fibres
projecting from surface of the cloth is known

55.

57.

58.

59,

60.

61.

freafafed & @ &9 @ m w9

PR BIAT & 7

A Riewp (8) ATIA

(€) FHUET mlqjd

AT Brdhe B ot Sar &

(A D (®) Tex

(© Nm D) Ne

frafafReg & &9 Wt 799 a8 &
%Y | W & 2

() fa7 WY (B) Hrfe

© 31 %9 () =1 wH

Uiferueex 9 &1 °9d BT &
(A) 115 mm/an  (B) 145 /&

(© 085 o/ (D) 154 ym/as’
T fied e g @

(A) IR TSI (B) Hexl w9l
(@ afaerg (D) IRTH

FHIRT & I P g9 Bl ©
(W) 1547w/  (B) 254 gm/as

(©) 354 gm/ad (D) 454 omfai®

FTS DI A W do Faed g W A
frare @t ufbar @ ded €

as (A) afe () fearsfoim
(A) Waxing (B) Desizing (© RifdT (0) ST
(€) Singeing (D) Sizing
Weight in grams of 1000 metres of yarn is |62 1000 #eX I & YR TH H SITIT ST
denoted by g
(A) Nm (8) D (A Nm ) D
(€) Tex (D) Ne © Tex D) Ne
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Which one of the following weave gives
diagonal line effect ?
(A) Matt

(8) Twill
(©) Plain (D) Satin
- Length and breath ratio of fibre is
(A) 1000:1 (8) 100:1
(©) 10000:1 (D) 10:1

- Which one of the following is called basic

weave ?
(A) All of these (B) Plain
(C) Satin (D) Twill

In English count, one hank consists of how
many yards ?

(A) 740 yards
(€) 540 yards

(B) 600 yards
(D) 840 yards

lute is mainly found in
(A) West Bengal

(C) Uttar Pradesh

(B) Madhya Pradesh
(D) Maharashtra

In weaving process, shuttle is used
(A) Both to insert warp yarn and weft yarn

(B) To insert warp yarn
() To insert weft yarn

{B) None of these

Fabrics made directly from fibres are known
as

(A) Knitted fabric (8) Non-woven fabric

(€) Woven fabrics (D) None of these

Which weave is used in denim cloths
generally ?

(A) Plain (B) Twill

(C) Satin

(0) None of these

mam

63

65.

67.

69.

ﬁﬁﬁ‘-ﬁﬁﬁaﬁﬂzﬁa’rqﬁﬁm&w
<

W A ® e

© @ (@ Afeq

W B g 9 disls B I F

B ® ?

(A) 1000:1
(€ 10000:1

(B) 100:1

(D) 10:1
fefafed & o9 W R fa Fead
g7

(A) J Iy (8) Wi

© Jfes @) =diq

P Fee § w fF § ey ad
B & 2

(A) 740 TS (8) g00 TS
© 540 T (D) 840 ITS
S[C T 91T AT #

(A) 9y §areq (B) Wy yegr
@ IR g () FERE

IS 96 3§ vedt &1y sy §
A a9 a9 S A wray

®) ard I Sre §

© dwe I e §

©) T § P T

FUS O W W F ey §

A Hiee Sy B) F9-ga9 e
© 949 Hfye

O T A P T

-éﬁqmﬁmaﬁaiﬁmm

TART B § 2
(A @

© Jfes

®) =it
© 3 F PE T

ﬁEéET?I_____._______________ﬁ_____u__
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When twist is increased in spun yarn, its
strength

(A) Increases (B) Decreases
(€) does not change

(D) first increase then decrease

Objective of sizing in weaving process is
(A) To decrease lusture of yarn

(8) To decrease strength of yarn
(€) To improve strength of yarn

(D) To improve lusture of yarn

Which knot is used in textile industry ?
(A) Weavers knot (8) Warpers knot

(C) Both Weavers and Warpers knot
(D) None of these

Yarn count of silk is expressed in
(A) Ne (8) D

{C) None of these (D) Tex

In twill weave, how many numbers of yarn
reguired (minimum) ?
(A) 4

g1

(8) 2

°) 3

Which one of the following is the leaf fibre ?
(A) None of these (8) Nylon

(O Sisal (D) Silk

Kanpur is known for which industry ?
(A) Cotton textile industry

(8) Wollen textile industry

(©) Brass industry (D) None of these

M

72.

74.

dars fed gU am ¥ A8 9 W =
ARG

(A qaft & 1 (8) et & |

© P g1 TE et & |

©) ggd qect & fhv "edl & |

gy ufbar & welim &1 9gewy Bar @
A a9 B gHE HH B

8) A P FALR BH B

© 7 B 7GR qorT

) I+ B I9F 4G

B W e aE S A wE Bl & 2

(A) fqz TS (8) grdR Tfe

(© 4R g qriR IHT TS

) 379 q HIS Tl

Rres &1 I ®15e uHe fHar omar 2
(A) Ne (B D

© 378 &4 B e (0 Tex

- efld dl9 ¥ fFon dewm § oI @

JEeTHAT B & (FYATH) ?
(A) 4 (8) 2

) 1 D) 3

- Frefafed # @ @9 @ WA a8

qrelr NI ¥ 2
(A) T W BF T8 B TRaE
© Ryaa (0) Ricdp

- B & Sam & fag s S w2

() Tt I JErr B) FH T SEn
(©) draa sam ) g A P &l

* NG
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79

81
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8

85

11111 —

Which one of the following is primary

colour?
(A) Yellow (B) Red
(€ All (D) Blue

Counting glass is used for
(A) To count EPI (8) To count PPI

{€) Both To count EP1and PPI.

(D) None of these

Which one of the following is called cotton
soil ?

{A) Red soil (B) Black soil

(C) Yellow soil (D) None of these

The moisture regain percentage of cotton
fibre is
(A) 14%

(€ 16%

(B) 8.5%
(D) 20%

z TPl stands for

(&) None of these (B) Teeth Per Inch

(C Twist Per Inch (D) Tension Per Inch

Dyeing of polyester is carried out by using
(A} Direct dyes (B) Disperse dyes

(C) None of these (D) Acid dyes

1lbsis equalsto
(A) 450.59 gms

(C) 452.59 gms.

(8) 590.59 gms
(D) 553.59 gms

Which one of the following dye is insoluble
in water ?

(A) Basic dye
(C) Acid dye

(B) Vat dye
(D) None of these

78

9.

B1.

82.

85.

® ppl @ A & forg
«© EpI @ PPI <Fr @ fiFa & forg

(0 3T ¥ Py Aol
frfaRag & @9 @ dUE FaT HETl

g7
(8) refl FaT

(A) TSl TaT
© Gft ga1 0) 3 A IS Tl

FAT F I FT A9 BRIEA FA B
afeerd &

(A) 149% (B) 8.5%
© 16% (D) 20%
TPI @ arcad 2

A) = q T T B vH 3T ¥ S

© v H A © T A T
IifToRer & TS P ST B

(A) SRRTE G gRT

B) fEeRt & gry

@ 7 ¥ B3 & (0) apefig 0 gRT
-1 |bs &RI§X BT ®

(A) 490.59 TH (B) 590.59 UTH

(©) 453.59 IH (D) 553.59 TMH
frafofea & &9 W &1 wa A
IJgATMA & 2

(A) ardg &1 (8 Je 3

(©) el & ©) g § P 7
Page: 16
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88

7]

primary motion of loom consist of 86

(A All (B) Beating

(€) Shedding (D) Picking

Which dye is used to dye Nylon fibres > 7
(A) Azo dyes (B) Vat dyes

(€} Acid dyes (D) Basic dyes

which type of weave produce Iustrouslsa
surface ? |

(A) Plain (8) Twill |
(©) Satin (©) All |
Keviar fibre is used for making 89

{A) Bullet-proof jacket (8) Fire-proof jacket
(O Water-proof jacket

(D) None of these

Hygrometers are used for determining 90.

(&) R.H. (8) Moisture content

(C) Moisture Regain (D) Temperature

In stock port system reed count is equals to |91

(&) Numbers of dent per inch

(B) None of these

(€} Numbers of dent per two inch
(0) Numbers of dent per three inch

Take-up is categorised in which type of|s2

motion in loom ? |
(4) Secondary (8) Auxiliary !

|
(€) None of these (D) Primary

oH @ wafe wfy § wftafoa g @
(A) It @) difEn

(€ 9fdy (0) fafd

P N TN A AAAT W B TS B
areft & 2

(A) o (8) de ¥

Q) apefty 377 0) @rér 37

a1 W fMa Fu A Ude P dHBER

gt & 2
(A) ol ®) zdtd

© afeq (0) T

HITR ¥ BT G 491 F Bl €
() gde g% Sdbe (8 BRR YF Adhe
© qreR g% e (0 370 A B AL

TRAMER &1 T Faer A F fog

B ?

A RTE B (B HegEr T B
(© g & 9 @

(0) qrq B

wip U e § Re dee & B[
g

(A TH 39 ¥ Sral dI A

(B) 399 A IS Tl

(© 31 3 H <Al B F=:A

(0 d g9 F <fdt @ wE

2H-3T o W & AR b Irrid
g7

(A fediae (8) IEAD

(O g9 A Big 81 (O FrAfe
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. . RoRES W €
o Prefafad ¥ e TRV
33 Which one of the following is regenerated | 9 A 8) ATTA

fibre ? ) fazpRn AT
? ! 0
(A) Viscose Rayon (8) Nylon () yifeeeeX (0) YT
(C) Polyester (D) Cotton -
' & arffn =9
a: Which one of the following warping f-"[ﬁfamg q g a
machine is used to manufacture stripe ;TFTHHT HRIER EAS frafor &r
fabrics ? . ?
(8) qrfe
(A) Sectional warping (8) Direct warping (A qERTAA AT EWQ: g
' D
(€) Peg warping (0) None of these (© o arffa (D) Eﬁ

A Praa g7 HUS B PE ©
< T e M © A @
{a) Finished fabric (8] None of these 0 =g bfed (o) 7 Hfagd

(C) Bleached fabric (D) Grey fabric |
|

e The fabric come out from the loom is known | 95

= Which one of the following loom runs at|se. frfafaa 3 P AT oA Aferpam Tl W
highest speed ? dadl & ?
(&) Rapier loom (8) Shuttle loom (A) IR ofH (B) 2cel ofH
(©) Water jet {©) Air-jet loom (© qrex 9T (D) TIR-ST ofH
~ Which of the following is longest natural |, Freifiied § PN W T T WPHID
fibre ? M 8 ?
(&) Silk (8) Jute (A) Ryep (8) e
() Viscose (D) Cotton © feprg (D) HYT
® In which of the following machine traveller | . frfafReg & 59 oA W gaeR &1
1s used ? AT Bl ® ?
() Ringframe (8) Drawframe (A) f&r By (B) g HH
(€) Blow room (0) Carding (O =1 &9 (D) HIfdT
# Objective of scouring process is 9. yReNy ufthar &1 ey &
(&) To remove natural impurities A grHfis a’gﬁg‘q’f\aﬁ IECAGEI
(8) To impart lusture (8) gH& 241
(€) To impart strength (B) None of these TS gt a1 (0) 379 A g &S
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0. In textile industry, which section produce |10 q&y T #, &9 41 3 )

maximum water pollution ? Sl SEEUT Bl 2
(A) Dyeing (B) Spinning (A) e (8) s
(C) Weaving (D) Printing © s (0) BUrs

T
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